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. ‘ 2020 (A)
A SSC PART-Il (10th CLASS)
BI®LOGY GROUP-I

TIME ALLOWED: 1.45 Hours SUBJECTIVE élﬁg 2145 =
MAXIMUM MARKS: 48 , 48 = AF

NOTE: Write same question number b Loy dr R bﬂH’Zﬂ’/-UW’{QVQu s
and its part number on answer book, as given in the question paper.

SECTION-l Jilo
2. Attempt any five parts. 10=2x5 .&ﬁw&mégeé/ 24w
(1) What are Aiveolar ducts and Alveoli? Y dugdt S 0]
(i) What changes involve in chest cavity during Inspiration Process? sadivdrvissle g SR )
(i)  Differentiate between Acute bronchitis and Chronic bronchitis. EOAE SRS ekt (i)
(W)  What are Succulent Organs? tal Alede ()
{v)  Write any two causes of kidney stones formation B ST AT ) o7 P09 S %)
(v} What are Receptors? Y obpesy (VD)
(vil)  What is the function of Motor Neurons? T Lr¥e Zuly (Vi)
(vii)  Write the two functions of Midbrain, ErnLred (Vi)
3. Attempt any five parts, 10=2x5 -é{/{-ok!lﬁ’z"k—df Y
()  Differentiate between Locomotion and Movement. - -{C WOAR = —//»'Jﬁ; (i)
(i)  Write two functions of Ligaments. - il i)
(i)  Define Double Fertilization. 3 r/.a_-,JJ;-ﬂ,u:/J; (iif)
(iv)  Write two main causes for spread of AIDS. s GEL L (W)
(v)  Define Genetics, LIS stia V)
(v)  Whatis Co-dominance? Give an example. e el A i)
(vil) Write the Genotype of blood group B. wladde S (il
(viii)  What is difference between Homozygous and e MR ‘..-,af}r,{\,_{..sl gt ol &8ty gaga (Vi)
Heterozygous genotype?
4. Attempt any five parts. 10=2x5 .é(fwuxélﬂ&ka.éf Y
(i) Differentiate between Primary Consumers and Secondary Consumers ~E ML AP $Ay (i)
(i)  Draw a simple Food chain. Y 4 uvﬁilu.f..y {ii)
(i)  Define Biological Nitrogen Fixation /v AS .f-"f-ﬁ,f‘:a.'eyﬂ (iii)
(iv)  Define Intraspecific Interactions. LSBT A (V)
(v)  What is meant by Genetically Modified Organism? el gt gyt S (V)
(vi)  What is the use of fermentation in cereal products? e JEWKMRL Iy )
(vii)  What s the difference between Antiseptics and Disinfectants? ~EIAR Sl o8 ol S 2l (vil)
(vill) What s the use of lodine Tincture? e ¥ zﬁiqiﬁ (viil)
SECTION-I (5.2

NOTE: Attempt any two questions. 18=9x2 .é;)’..-..wéc.mmgdf -2
5.(A) Explain the functioning of Kidney. 4 oS LsS (s

(B) Write a note on Hindbrain, 5 {,‘.'/f._){qde'ﬁ (&)
6.(A) Whatis Bone? Explain its composition with diagram. 4 Eoote Flowmd tetfol (UN.6

(B) Define Vegetative Propagation 5 LU Arnl u"g'p{»c,{ydy“mg,{ A J‘g'u.oﬂ,{': ()

and describe two most common methods of Artificial Vegetative Propagation.

7.(A) Wirite the objectives of Genetic Engineering. 4 - VAN O T AP (B )0

(B) Write different sources of Medicinal Drugs. 5 -u-“’ (R A (&)
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. , 2020 (A)

Rl SSC PART-ll (10th CLASS) )

BIQLOGY  GROUP- by .,.; sy
TIME ALLOWED: 145 Hours SUBJECTIVE _J¥lLe Z145 =
MAXIMUM MARKS: 48 | a8 = AF

NOTE: Write same question number Ly SR bﬂA)’ZJ’WW‘CQVQ" s
and its part number on answer book, as given in the question paper.

SECTION-| Jilo
2. Attempt any five parts. 10=2x5 Eifernr Ly 8 240w
()  Whatare Aiveolar ducts and Alveoli? tuny gt u"’ Ykt )
(i)  What changes involve in chest cavity during Inspiration Process? Vd'ut}w’w w-zuw :d‘" (i)
(W)  Differentiate between Acute bronchitis and Chrenic bronchitis. .u.‘{)}j SOt ekt (i)
(v)  What are Succulent Organs? fay Al (iv)
(v)  Write any two causes of kidney stones formation e $lSE LS W)
(vi)  What are Receptors? Y ey (V)
(vii)  What is the function of Motor Neurons? e \r¥¥ Aukly (Vi)
(vil)  Write the two functions of Midbrain. Lk (Vi)
3. Attempt any five parts, 10=2x5 .5(}1:«&&&’2"&:—3{ Ry
(i)  Differentiate between Locomotion and Movement." e -{5 AL = 2l ()
()  Write two functions of Ligaments. Ul 6 ()
(i)  Define Double Fertilization. LI ASFEAAES i
(iv) Wit two main causes for spread of AIDS. eSSl (W)
(v)  Define Genetics, LA s W)
(v}  Whatis Co-dominance? Give an example. “LJeg e A (i)
(vil)  Write the Genotype of blood group B. sl (il
(viii) What is difference between Homazygous and e SAR A 2805 g haa o &8l gaga (Vi)
Heterozygous genotype?
4. Attempt any five parts. 10=2x5 .g{(faﬂk&'?'&&béf oy
(i) Differentiate between Primary Consumers and Secondary Consumers ~EONLF AR $A (i)
(i)  Draw a simple Food chain. Y4 Qv!sfl'ur.y {ii)
(i)  Define Biological Nitrogen Fixation GBS gé’f,’-,)-'ra.’w; (iii)
(iv)  Define Intraspecific Interactions. .qu.gﬂf.:ﬁﬁ.ﬁn"f' (Iv)
(v)  What is meant by Genetically Modified Organism? S sl At p T ()
(v)  What is the use of fermentation in cereal products? ‘-‘q-JU-"IL/Vu’-# AR ’3'{&'!6“ (vi)
(vii) What is the difference between Antiseptics and Disinfectants? “EOAR Sl b o Sty Bial (v
(vil) What is the use of lodine Tincture? e VU /’f’&qiff (viii)
SECTION-II (.o

NOTE: Attempt any two questions. 18=9x2 .é}):aul[—eﬂ'mf-df o
5(A) Explain the functioning of Kidney. 4 LSS lasS (s

(B) Write a note on Hindbrain, 5 ik (&)
6.(A) Whatis Bone? Explain its composition with diagram. 4 Fooe Flowmd te ol (.8

(B) Define Vegetative Propagation 5 -g‘,?.)mJuﬂ)(L;:s.u"gp<r.{ Sy A J"C"u-“»f‘: (o)

and describe two most common methods of Artificial Vegetative Propagation.

7.(A) Wirite the objectives of Genetic Engineering. 4 L I il didia (.7

(B) Write different sources of Medicinal Drugs. 5 BB BL e ()
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2020 (A)
R SSC PART-Il (10th CLASS)
$OLOGY  GROUP-I

TIME ALLOWED: 145 Hours SUBJECTIVE &l Z145 = =
MAXIMUM MARKS: 48 48 = AF

NOTE: Write same question number .q.Wg.{Jrfzé (-,»AZM,?JM}:;Q(QV. wbd
and its part number on answer book, as given in the question paper.

SECTION- (Jil.e
2. Attempt any five parts. 10=2x5 L fenlonbye 8 2 0w
(i) Wrrite four symptoms of Emphysema. = ,.'.Oal.w/l'.d' W 'J" (1)
(i)  Differentiate between Acute Bronchitis and Chronic Bronchitis. te WA Unf i ekt (i)
()  Whatis primary goal of World Health Organization e Y Sl Lo AL unatbatomde G
regarding prevention of lung cancer?
(iv) Define Osmoregulation. LSS ()
(v}  How Calcium Oxalate is removed in tomato plant e :n{-,;ﬁé_’ IO AT P of Tﬁ“{,'.'b ;;L}i) (v)
as metabolic waste?
{vi) What is function of Schwann cells in human nervous system? %Eﬁ‘*@"ﬁﬂf"‘ Ul gdl (i)
(vil)  Wite any two growth effects of somatotrophin hormone -g{gf.a-ﬁﬂiu?:;.éf;(" J‘..z'l.':anw's}k’r (vii)
on human body.
(viil)y  What is optic disc in human eye and why it is el Fra e YOIETLI O  (vil)
refarred as blind spot?
3. Attempt any five parts. 16052x5 Gfen e 8 30
)  Write the role of Skeletal System. & S fi
{i)  Write difference between Flexion and Extension. b i a M G
(i) What is meant by Hypogeal Germination? Give two examples\?/ .{,::u:‘&:: Ve slrle S i)
(iv) Define External Fertilization, Give two examples. OO ISl FEWFSRAATE ()
(v)  Define Monohybrid Cross. ‘Q S VAl W
{vi}  Define Translation. Oé/ LAY
(vii)  Define Mendel's Law of Independent Assortment. £S5 m_u;d}u'f 0l ki (Vi)
(vi)  What do you know about Breeds and Varietes or Cultivars? ?u'._.w'.r Tyﬁé L u'r! 2l Jhs (vl
4. Attempt any five parts. 10=2x5 .g{(ﬂ:.w.ﬁlzl‘gedf Yy
(i)  Define Harbivores and Camivores A ik i 0]
()  Whatis Symbiosis? 'Name its any two types -4?'![-.‘5":&;’7 e
(i)  Wnat is meant by Afforestation? fesrle ( i ) bt (i)
(V) Whatis Greenhouse Effect? tefeBissig S (v
(v}  Whatis meant by Genetic Engineering? e Ve of g (W
(vi)  Wnat is Fermenter? et &2 (v)
{vil)  Give difference between Pharmaceutical drugs fe A (2l ) a8 st Cafot ) SsSertb (vl
and Addictive drugs
(viil) Alexander Fleming is famous for what? Ve fad LA x i)
SECTION-I e
NOTE: Attempt any two questions. 18=9x2 .é{fuwﬁ.umnx.éf -2

5(A) Describe the structure of functional unit of human kidney. 4 B AR I ( 'o\»‘oe s/ Ju' (.5
(B) Write down about Paralysis and Epilepsy. 5 EFL et ()
B.(A) Define Arthritis, Explain its types 4 S »erw . "u'u/_g/‘\f ;Jl (.6
(B) Write a note on Gametogenesis 5 Eofy guaiia il ()
7.{A) Describe the scope and importance of Biotechnology. 4 -J/uyubr“a"l’d)bﬁzl (.7
(B) Explain the mode of action of Vaccines. 5 oS B P Sk (L)
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PAPER CODE 2020 (A)
? SSC PART-I (10th CLASS)

NUMBER: 3462

BIOLOGY  GROUP-II 13 - o 4
TIME ALLOWED: 15 Minutes OBJECTIVE (i w15 =
MAXIMUM MARKS: 12 12= AF

e cd | Shm3ordnl b rne o DL sl gdfin 2L L1 D 4 C B A \Rlgldvr  -2d
(a4t K2 e SL Sl fonts MurPrlsadiife SIS Sk § Lm0
Note: you have four choices for each objective type question as A, B, C and D, The choice LS ety
which you think Is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheot of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The human chest wall is made up of pairs of ribs .q.&m}”;w;z _ Lus a'(.-d"qJLJ' (1)
(A) 8 (B) 10 C) 12 (D} 14

{2) Rubber plant removes other waste material in the fomof ___. .= .‘/"(-,niuﬁf 1] I o gy 2)
(A) Resins 7y, (8) Gums # (C) Latex ¥ (D) Mucilage muliwse

(3) The part of brain that coordinates muscle movement PR | 37 IO 7Y € 1 S
(A) Cerebrum 2z  (B) Cerebeilum (¢  (C) Medulia oblangata iz (D) Pons 7L

(4) Pairs of spinal nerves that arise along spinal cord are@o/ e L) gac_ Sl »UZ; (4)
(A) 31 (B) 13 () gf& . D) 12

(5) Cartilage and bone are types of tissues of animals, /\S\/Lg(QiJJ;—’ e Lusteux S 5)

(A) Muscie &~ (B) Connective &~ (C}) Smooth 39/) (D) Cardiac £ L¥

(8) When pollen grains mature they are transferred to: ‘ G&ﬂyy/uwuﬁ)';gzl.%/d_' /\/;_2 (6)
(A) Stigma L& (B) Carpel 2§ (C) Sepal ¥~ (QR t z

(7) How many pairs of homologous chromosomes S 2l ne SR E LA St Yl ()

are present in human body cells?

(A) 22 (B) 23 {C) 24 (D) 25

({8) The alternate forms of a gene are called: -uga-il'f’gfzfdss;u’;;! (8)
(A) Locus (B) Chromatin %/ (C) Alleles ! (D) Histone &

(9) The total amount of fiving or organic matter in .931?3‘%’{;’;&.@’;&.;}:54}!;h.{’,tf" g (9)

an ecosystem at any time is called:

(A) Energy &1 (B) Population ¥ (C) Community (= (D) Biomass £}

{10) Which animal is a Herbivore? te (Herbivore) s el (10)
(A} Grasshopper 12K (B) Frog <o (Cyom i (D) Fox

{11) Dolly is the name of a: ertdss (1)
(A) Rabbit ¥.j57 (B) Flower ¥% (C) Mouse €& (D) Sheep ¥/

{(12) Expired drugs can cause damage to Er bt el lleamimlgebe  (12)

(A} Lungs < 2% (B) Testes 2= (C) Ovaries . (D) Kidneys </
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